H & 0l & AHS B Ml A

RARIS = algeaiy
M AEXMNY 84
ol 2 A HEHE |4 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
H=ag ot 9,516,313 16,357,876 A5,841,563
= 390,000
Jl 1,100,212
= 145,876
Al 7,880,225
AR INY FY 9,410,601 16,269,813 N\b,859,212
= 390,000
) 1,100,212
= 145,876
Al 7,774,513
dz 2 dEMs |4 3,839,521 3,635,177 204,344
Jl 95,000
Al 3,744,521
HEX&H 14,480 18,140 A\3,660
201 er2 3| 6,000 8,000 /2,000
01 AtR2te|HI 6,000 8,000 A2,000
OMSTE-S 3o =4
100,000& x10E 22| 2,000
OM=¢el QIAES} 2t E2E MA & 1=
1,000,000& 22 2,000
OdeH=sua 280 UE 2= M
100,000 1094 A+23] 2,000
202 O4H| 6,480 7,140 A660
01 2L AL 6,480 7,140 AB60
Od=AEME Sdd=H o1&, 2
60,0003 x4 & +63] 1,440
Od=ME 2d&ds- o1&, 2
60,0003 #4 & +63] 1,440
OAElal sddH &, A
60,0002 x4 & *62| 1,440
OHM= ZAKX 212 & MOILE &4 048]
60,0002 x4 & +53] 1,200
O2E thal HzIX d&X| At
60,0003 #4 & *43] 960
203 gR=8| 2,000 3,000 A1,000
03 A= LR F&IH| 2,000 3,000 1,000
OA%& MElz & AsAd 22 =
2,000,000 %14 2,000
=X AM=2 HEXH 771,649 708,763 62,886
307 212+01™ 766,649 698,763 67,886
02 LB HANHEE 402,000 385,000 17,000
o204 === 28| X
65,000,000 *13] 65,000
OHM0sel 8=MEUa 28 d=H N2
16,000,000 *13] 16,000




A Hs&S 0
A

M ATXMY 84
tel: M 2 MENS |4 (SH9 H2)
2 - IE!
SN - B - SRASH) - MRA - BAES ol &t e HIDSZ
ONs3al d=LHEH=U 28 A+ N3
8,000,000& 12 8,000
ORMe3sl dMetgxM=uzl I X
210,000,000& x12] 210,000
OXMI32l 4HAIZ (0=, =8, &2, 7el) 2
SUEd 28 12 10,000,000 * 12l 10,000
O"lieteESa O A2 dEHS wsU2
10,000,000& * 13l 10,000
ORMIse2l Metd-dEMSUHEN £
65,000,000 * 14! 65,000
OHMI92l detdoSMMEENFIUE =2
18,000,000 * 12l 18,000
03 UL HEI2SHIEx 284,649 233,763 50,886
O=dAIMSF3 AMR=F A8l XFI=3
AEX) 37,857,000& x13] 37,857
O=&AIM=2l 12| XI&
193,554,000 12 193,554
O=&AMF2 288 X2
53,238,000 *13] 53,238
04 QIZHHAMAMH 2 & 80,000 80,000 0
O=dAl MS2l2 & A
20,000,000& *12] 20,000
OM202 =&Al SHFSUHEL A
60,000,000 *12] 60,000
402 212 X201 & 5,000 10,000 /5,000
01 QI X2 AL E R (KHHITHE) 5,000 10,000 /5,000
O=&A(ZH)H=3 =25 7L
5,000,000 *14] 5,000
=AY =F2l HEXHA 290,961 247,001 43,960
307 2I2t01 & 290,961 247,001 43,960
02 2B YA R E £ 121,000 120,500 500
Oo4 HOHQIHS a4 2ot X2
9,000,000& *12] 9,000
ON443] B=HAMFUH &8 d= NH
2,000,000& %12 2,000
ORMI32el Hetd=HMMSUH 28
90,000,000& *13] 90,000
O2024 HMetd Y M= E
20,000,000& x12] 20,000
03 M EHE2SHIEX 124,961 101,501 23,460
O=dAIZUMM=2 AIR=E 21244] X
CISHEXH) 54,726,000 *13] 54,726
O=dAZLIMS2l 12| K&
50,235,000& *13] 50,235
O=&AIZMH=S 23 NH
20,000,000& 13l 20,000
04 QIZHHAIAIH E X 45,000 25,000 20,000




RARIS = algeaiy
B ALZMNY 4
ol 2 A HEHE |4 EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O2e4 ZOHUHIS Il & HE]
10,000,000& * 13l 10,000
ONi6al =& AIZ I HEHSHS
15,000,000& *12] 15,000
O2024F M Al(=d,04==,2) ZoHe! M=
HM=wsd Nz X2
20,000,000& *13] 20,000
T30 SUHs X 230,000 230,000
308 XXM SOl 230,000 230,000
08 W=J|20CHet 2 & 230,000 230,000
Ostu2ss Egdl ¥ f+stu & 170,000
—&= & NEX X
150,000,000 *14] 150,000
—S=stu K& 20,000,000& * 14! 20,000
O=7D4 2y X<
60,000,000 * 14 60,000
ANY2SHIIR |4 2,417,431 2,321,273 96,158
301 EtE N = 2,412,931 2,316,773 %,158
Rzt - 2SFSEHS 2,412,931 2,316,773 9%, 158
OAZEHUAR 23] 1,068,146
—JlEs-=2=H 111,890
o= 5,140,600 «1E*12& 61,688
X 4,183,500 < 1H* 122 50,202
—Jlzs-gsSA 372,947
S 4,416,660 «2H 122 106,000
- H== 3,166,660 «4E 12 162,000
ERaEe 3,500,000 «1&*12& 42,000
Ha 4,812,403 «1H 128 57,750
- ASIHAR 316,6003 4«12 15,197
—do=s-d2+¢ 18,649
o= 5,140,600 18 +2& 10,282
X 4,183,500 1 +2E 8,367
—JESE 100,000 x 12 * 12 1,200
—d2=grt=s 180,000&x1&+12& 2,160
—AEE2xY| 5,220
o= 250,000& x1E~12& 3,000
X 185,000 x 1 » 12 2,220
—&8+d 200,0002 102 ~12& 24,000
—HE s 200,000 «2H 122 4,800
—ZJ|dgE 300,000& x2E 12 7,200
SONISSUNES= 6,000
i 300,000 «1H*12& 3,600
22Xl 200,0003x 1 ~12& 2,400
—=JlHESE 300,000« 1H* 122 3,600




A MM
Hu: AZAY S
el X2 U MBS S4 (2ol &e
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
e 200,0002 62 *12& 14,400
—HE=JHI 11,190
o= 5,140, 6002 «60%+ 1 H 22 6,169
ZXl 4,183, 5002 »60%+~1E 23 5,021
—&d=0a Z&3
500, 000& x5 * 102 25,000
—=2HiE 243 500,000 x2H 1,000
—gdes 10,0002 x102 *40H 4,000
—d==EA=Z 229,690,000 *x14] 229,690
—EH0HI-d=02
9,000,000& 102 90,000
—Sd0HI-= A=
10,000,000 *12] 10,000
—Ed0H-dXEE E Heted
9,000,000 *42] 36,000
—2EUz &3 sS4l
8, 0003 x2A! %102 45 7,200
— =] 11,000,000& »23] 22,000
—&JI88 Fgl 50,000,000& *13] 50,000
Ogd=F 24| 412,993
—J|=22-23AM 60,848
o= 5,070,600 «1E*12& 60,848
—Jl2s-g3SA 156,398
== 5,416,660 «1&~ 128 65,000
S 3,333,330 x2E 12 80,000
- HSOHaroY 316,600 «3H 122 11,398
—dos-d2+¢ 10,142
&= 5,070,600 «1&+2& 10,142
—IIE=E 40,0002 x1&* 122 480
—gd2=gtt=a 1,560
a5 130,000 x1&* 12 1,560
—H=2 2| 3,000
o= 250,000 x1& 128 3,000
—=2d=d 200,000& x4E~12& 9,600
— M=ty 200,0003x1+12& 2,400
—doggdse 300,0003x1&+12& 3,600
— X=Xkt 300,000 x1& 128 3,600
—=JtHE=E 300,000« 1H* 122 3,600
—tgs< 200,000&x1x12& 2,400
—HEZII 6,085
o= 5,070, 6002 x60%+ 1 ~2& 6,085
—d=03s Zo= 500,000& 2 *62] 6,000
—=MHal Z&=3 500,000& x2H 1,000




A Hs&S 0
B ALZMNY 4
tel: M 2 MENS |4 (e A
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
—ggdel=s 10,0003 4 +600H 2,400
—d=EAS 7,000,000 *1H 7,000
—S80HI-d=02 6,000,000 82! 48,000
—SX0HI-= MU=
10,000,000& *13] 10,000
—Sd0H-dX2d & HetEA
5,000,000& <43l 20,000
—2EUa & sS4
8,000& 24! x4 & x45 2,880
— 1=l 10,000,000& »23] 20,000
—dI|835 g 32,000,000 *12 32,000
OREF 29| 566,832
—JlEs-=2=AH 5,070,600« 1H =122 60,848
—JlEs-d=H 269,597
S 5,300,000& x4~ 12 254,400
- HBIHAkOH 316,600 x4H 122 15,197
—d=s-d2=¢
5,070,600 «1&+22 10,142
— S 20,0002 1~ 123 240
— g2 X 250,000& x1H 128 3,000
—Eds 200,000 «6H 122 14,400
—Hl= ety 200,000 «1H =122 2,400
—ZJ|Eerd g 300,000 x1& 128 3,600
— XXt 300,000& x1H 122 3,600
—=3tHESE 300,000& x2H 128 7,200
—NEg=¢ 350,000 «2H 122 8,400
—HE=JH
255,070, 6003 ~60%+~1Z 23 6,085
—FA0E Ea3
1,000,000 6 & *53] 30,000
—= Mt Z&= 500,000 x2E 12 1,000
—ggdes 10,0002 *32 *100H 3,000
—S80HI-d=02 9,000,000 82! 72,000
—SX0HI-= MU=
10,000,000& *13] 10,000
—Sd0H-dX2d & LetEA
9,000,000& 3! 27,000
—2EUa & sS4
8,000& 24! +6 & x456 4,320
— 1=l 10,000,000& »23] 20,000
—dI|1835 g 10,000,000& *12 10,000
OXNY2SEIIR g=a 22t & 338
2 800,000 304 2+ 122 28,800
OXEF2SAIIR g3 8,000
—AZEHILIA 2,000,000& %12 2,000




RARIS = algeaiy
B ALZMNY 4
el M2 ¥ dENs |4 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—&= 3,000,000& %12 3,000
== 3,000,000& %12 3,000
OXYESZIIR tdds geAE
50,000, 000& *3& 150,000
Osied e A=H|
1,5002 3602 | E1+4E 2,160
OXEESEIIR U2 RE=
11,000,0002  12& 132,000
OXNYESEIIT A SRHHI-30
1,500,000 *3CH* 122 54,000
405 KHaHE SH 4,500 4,500
01 AL =S F=H| 4,500 4,500
OME2SEIIR 28 22 #¢ 4,500
—Y=AEE S 1,500,000 *32] 4,500
HE2SHIIR SE(ANLHSTEAY) 95,000 90,000 5,000
) 95,000
301 EtE NS 95,000 90,000 5,000
Il 95,000
Rzt - 2SFsS2Ys 95,000 90,000 5,000
O=dgdtl ¢ 5,780,000 52 28,900
Jl 28,900
Ogds 7d 650,000 52 3,250
Il 3,250
OEd0MbI-dXIzH 6,285,000 102 62,850
) 62,850
MESDASIAML(Z2IHEEXR) 20,000 20,000 0
307 elztol & 20,000 20,000
02 2B YA E X 20,000 20,000
Odiesto] densndd 29
20,000,000& *12] 20,000
AT X0OHAE 160,992 248,752 N\87,760
AEXOHAE 26,120 28,880 A2,760
201 fer=3| 22,600 24,000 1,400
01 AtR2t2|H] 22,600 24,000 21,400
O&=ZCH HMSAL HEl 28 LRz
300,000& *102] 3,000
O MSEAL izl 2H EE2 M
2,300 *1,0005+22] 4,600
O2024 JTBC EdidRelot =& JI1EE M=
10,0002 %1, 500K 15,000
202 04| 2,520 2,880 A360
01 =LHOLI 2,520 2,880 A360
OAZ=0PIE EEAt 212 & HIX|0H
60,0003 38 +73] 1,260




2A:

Mo ARZNY K4
Ehelr AXX0PE EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&Xled &8 #XI0Hd
60,0003 3 73] 1,260
203 =] 1,000 2,000 21,000
03 A=A PR FA| 1,000 2,000 A1,000
OAZXOIIEY BA3IE 98 22 XX
1,000,000 *14] 1,000
dXeds =i € K& 14,872 9,872 5,000
201 2= 9,872 9,872 0
01 At22telt] 9,000 9,000 0
O&Xledd |1 U= M=
3,000& *1,000% 3,000
Odlled Y4=28 HsAE U2s XA
20,0003 60 50 2 6,000
02 S3=gHl 872 872 0
OHXEY RX ESHUT 2
2,180& *4000H 2 872
307 lztol & 5,000 5,000
02 LB HAHE L 5,000 5,000
O&lled Xl X&H 5,000,000&*12] 5,000
AEXE3E SYAN(IOEENL) 120,000 170,000 £50,000
307 el2to| & 120,000 170,000 50,000
02 2B YAIHE A 120,000 170,000 /50,000
Oz=dAZ==g 22l A&
30,000,000 *14! 30,000
O=&FC U-15 X 90,000,000 *14! 90,000
=M. =2 HFLA 972,000 1,254,000 A282,000
= 45,000
Al 927,000
=H - A= HSHA X2 487,000 754,000 A267,000
= 30,000
Al 457,000
307 el2to| & 487,000 754,000 A267,000
= 30,000
Al 457,000
04 QIZHHAMAIH 2 £ 487,000 662,000 A175,000
ON11a8l =&et A= ArIXEA(MB)HEN(=
HIXEXIR) 20,000,000& *13] 20,000
ON102 =dt=)1d 2t &= st o=
(XY RH) 25,000,000& *13] 25,000
O2024 =X A= A d= s+U2
45,000,000 *12] 45,000
=S 5,000
Al 40,000
O2024 =&et=It8 2 &= st o203l
65,000,000 *13] 65,000




2A:

M= Ak 1t

mm: Amxpel R4
ool 2. H2CS KA (crel: g)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
= 5,000
Al 60,000
OM143| =&=IIE I = Z=2 - Ot0t
METSHAATZX|S
25,000,000& *13] 25,000
& 5,000
Al 20,000
OHMIBE| =&o=2IIAEREH =dLEHILIALY
3 85,000,000& *13] 85,000
= 5,000
Al 80,000
OHMI153| =& r2ZHHH &= SIS
45,000,000& 13| 45,000
& 5,000
Al 40,000
OHNI24s| =dO=2)IH | A= SEHZ2E0
3 40,000,000& 13| 40,000
= 5,000
Al 35,000
OHMI145] =0 M= K2 2103l
15,000,000& *13] 15,000
OHMI183l =&0t S2E¢ct DI2tEUE
15,000,000& *13] 15,000
O2024 =&2=2I1ERHH 57 AES2|]
25,000,000 *13] 25,000
OM11g =FU=IIEI B2 AEEeE|]
12,000,000& *13] 12,000
O 8= AEERI(22 ss&dHAMT)
20,000,000&*13] 20,000
OHMI4e =&0t=IIE 3 &= HILIACSE
25,000,000 *13] 25,000
ONB3 =&t JA M= UHECIEHD
3| 25,000,000& *13] 25,000
458 Oi2tE tigl XA 155,000 160,000 A5,000
c 5,000
Al 150,000
307 2I1Z2H0| & 155,000 160,000 A5,000
= 5,000
Al 150,000
04 CIZISHAIAIH E X 155,000 160,000 A5,000
OHNI243] dEE0UEUE
155,000,000 * 14! 155,000
& 5,000
Al 150,000
=ROI=2JIAER M2 185,000 195,000 A 10,000
c 5,000




2A:

M= Ak 1t

B ALZMNY K4
Sl 2R, ARCHY IS MAF (12l M2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 180,000
307 gl2tol & 185,000 195,000 10,000
=S 5,000
Al 180,000
04 DIZFHAPAIY 2= 185,000 195,000 10,000
ORI9sl =HLIZOII A B2 REHS
185,000,000 * 14! 185,000
< 5,000
Al 180,000
==Y 8= R4AEE2U3 135,000 145,000 10,000
= 5,000
Al 130,000
307 @20l & 135,000 145,000 10,000
=S 5,000
Al 130,000
04 QIZHHAMAIH 2 £ 135,000 145,000 10,000
Q2024 =HARIIFAW B2 KAEED
3 135,000,000 * 14! 135,000
< 5,000
Al 130,000
M3zl d=AEHSUHa 2 10,000 10,000
201 er23| 10,000 10,000
03 A= SHI 10,000 10,000
ORMI53e 8=4EME =29
10,000,000 * 14 10,000
AN HFA 593,500 1,930,174 1,336,674
NS A X2 468,500 498,174 N29,674
201 et 3| 23,000 23,000 0
01 At2t2l] 23,000 23,000 0
OAlE & AN e 222 M
300, 000& *202] 6,000
OAlE MsgA HE Xtz
260,00024 %102 2,600
Osgs Hslla =% & 82 A%
600,000& 24 EHS 14,400
301 22N 24,000 24,000
11 AALEEIXIE S 24,000 24,000
OsSHS MU A SO 24
1,000,000&*24HEHS 24,000
307 elztol & 421,500 451,174 N29,674
02 2IZHBYAIHE & 20,000 40,500 A20,500
Oz& MEU=l £d8d| XA
20,000,000& 12l 20,000
04 QIZHHAMAIH 2 £ 401,500 410,674 N9, 174




2A:

B ALZMNY K4

St ASE? MSA (e A
=] MNZH . CHO|( 5 = HANS }OH ST =3}
T}d * éi—l * ;_T‘I(EIJH) ° k”TAI'g p L= Oﬂﬁﬁ oﬂ&ou HIJ-Lo:l

ON29a| =& A&7

ORNI23g] =& AlIZHH
ONI228] =& Al ZtH
ACHE
ONi2r=l =& Al ZtH
ORIzl =& A&
02024 S8 THAIZ
OHNi21z2l =& A&
ON29z| =& AIE D]
ONI212l =& AlIZHH
ON252] =& A&
ON20z| =& A&
OHMIM1a =& AIZHH
OXMI122l =& Al ZtH
ONI9al =& AIZHH
ONI3a =& AlIZHH
OHNieal =& AIZHH
OHNieal =& AIZHH
ONI5al =& A&
JIti=l

OXMI152] =& A&

ONIBal =& A&

9,000,000& 12l
OHNi18zl =&t SE=1Uz=

5,000,000 12}
ORNi27el =& A S e Sl

5,000,000& 12}
OHmieal =&l Metd= SEUg =€

il 5,000,000 18]

ORmi27al =& AMEI| =3

6,000,000 *12]

sgd §70zE
10,000,000 *13]
gdsd e AZEHU
4,500,000 18]
28 g4 s
5,000,000& 12}
gisl
7,000,000 12}
=& AIAOIEZ2UE
5,000,000 18]
HOIEEUS
6,000,000 *12]
HHECIEH 2]
6,000,000& 13!
B2 CH 2
7,000,000 18]
Y B2 =0E
10,000,000& *13]

S E

6,000,000%/+13]
NEIEIE ]

7,000,0004+13]
Jet2E=20s

8,000,0002/+13]
=R dyL]

5,000,000%/+13]
=303

7,000,0004+13]
2101043

4,000,0002/+13]
=3tar SIS

3,000,0002!+13]
HAATX ZHOIM

3,000,002+ 13]
MBS OFR0HE

3,000,002 13
2802043l

3,000,000& %12l

9,000

5,000

5,000

5,000

6,000

10,000

4,500

5,000

7,000

5,000

6,000

6,000

7,000

10,000

6,000

7,000

8,000

5,000

7,000

4,000

3,000

3,000

3,000

3,000




RARIS = algeaiy
M AEXMNY 84
CHRlr AISE MSAL EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OHMI92] =& AIEH 2letelAH0IE =
4,000,000& *12] 4,000
OMI163] =& AIEH =S
4,000,000& *12] 4,000
OHMI133 =&AIEI| SAU3S
3,500,000& *12 3,500
OHNI92| =& AIEH H=8UELIALE
3,500,000& %12 3,500
OM143] =& AIEI| SAITE
2,000,000& %12 2,000
ONigasl =&AEI| MEE
3,500,000& *12] 3,500
OHMI23] =& AIZH eoI=lal
4,000,000& *12] 4,000
OM3al =& AIEI| OFAILE 2IHCHE]
3,000,000& %12 3,000
ORNIgal =&AIEI| & St0tSUHE
2,500,000& *12] 2,500
OMNel =&AIE)| IIa3=203l
4,000,000& *12] 4,000
O=&Al HSA 2 X
30,000,000 *14! 30,000
Oxl43l sHSH=US
198,000,000 *13] 198,000
0l MFLAF X2 125,000 122,000 3,000
307 elztol & 125,000 122,000 3,000
02 2IZHBHAIAE & 34,000 34,000 0
OHMIH=Ua S8 XIH
34,000,000& *12] 34,000
04 QIZHHAMAIH 2 £ 91,000 88,000 3,000
O2024 =& Al AIZIE0HQ! HEMSUS
4,000,000& 12 4,000
OHMNz dgs2d e E=SU
4,000,000 *12] 4,000
ORM42l =yl &N )l 2=
=l 4,000,000 12 4,000
OHMl12sl 8gsFa 0 =S
4,000,000& 12 4,000
O2024 B HOjQ! &728 (e
4,000,000 *12] 4,000
OHMIM1al =& AIEI| E0He! HILIAHS
4,000,000& *12] 4,000
OHMI02] =& Al ZOoHe! BH=RIE =SS
4,000,000& 12 4,000
Q2024 =FAIEI| ZOHQ! A2
3,000,000 %13 3,000
ORNal =&AIFEI|I HoHe! HOIE=UzZ
3,000,000& %12 3,000




A MSAHDt
M AEXMNY 84
CHRlr AISE MSAL EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
02024 =& Al ZoHe! 0=l
2,000,000 *13] 2,000
OHNBal =& AIZH d=Z0HQIHA ALY
sl 2 B0 Z8 OOl
30,000,000& 13l 30,000
OHMI3al =Pt M3 Z0I2Z Sl L 2025
SIHE 4K SN (ZHIEEXIA)
25,000,000 *13] 25,000
SOIMFEIEII2 BRAMY 1,950, 133 1,759,972 190, 161
| 1,005,212
= 100,876
Al 844,045
ATRZUHMOIZEH KA 497,041 497,041 0
| 347,928
& 44,734
Al 104,379
301 LPBNF 497,041 497,041 0
| 347,928
& 44,734
Al 104,379
01 A BEAHZ2(RREETHA) 497,041 497,041 0
OAZ=AUXNOISH KI2AY
497,041,000& * 14! 497,041
| 347,928
& 44,734
Al 104,379
HOHIAZ=ZA0|SH K& 151,800 70,681 81,119
| 106,260
& 13,662
Al 31,878
301 YPENZ 151,800 70,681 81,119
| 106,260
= 13,662
Al 31,878
01 Al B&XHZ2(2REETA) 151,800 70,681 81,119
OFMAAZ=2AXO0|SH XA
151,800,000 & 14! 151,800
| 106,260
= 13,662
Al 31,878
AUHME RS XIS AE BHX 350, 188 338,877 11,311
| 140,819
Al 209,369
307 QI2Hol ™ 350, 188 338,877 11,311
J| 140,819




RARIS = algeaiy
B ALZMNY K4
el FASHEI) IS ELAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 209,369
02 QA AAEE X 350, 188 338,877 11,311
OLBMEHSTE XA
350, 188,000 *14] 350,188
Jl 140,819
Al 209,369
LSS A HIHA KIE A 10,800 0 10,800
= 4,320
Al 6.480
307 elzto| & 10,800 0 10,800
= 4,320
Al 6,480
02 2B YAIHE A 10,800 0 10,800
OLPHEHFAEI MRME K2 A
10,800,000 * 14! 10,800
== 4,320
Al 6,480
UBMSNSANEL ACEs B2 1,476 0 1,476
7l 738
Al 738
307 elzto| & 1,476 0 1,476
7l 738
Al 738
02 2B YAIHE A 1,476 0 1,476
OBt S At NE8s 282
1,476,000& *14] 1,476
Il 738
Al 738
HEMMEHFA AL B 432,512 425,662 6,850
Jl 172,111
Al 260,401
307 elztol & 432,512 425,662 6.850
Jl 172,111
Al 260,401
02 2IZHBYAIAE & 432,512 425,662 6,850
ONZAMY MBHSXEX HHXIAIY
432,512,000 x 14 432,512
Il 172,111
Al 260,401
UMY HEMSAZA MM NFAS 13,200 0 13,200
& 5,280
Al 7,920
307 lztol & 13,200 0 13,200
= 5,280




RARIS = algeaiy
B ALZMNY K4
el FASHEI) IS ELAY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 7,920
02 QA AAEE X 13,200 0 13,200
ONSUMEHSXE=A HLHME XA
13,200,000 * 14! 13,200
== 5,280
Al 7,920
HE24NY MEHMSATA 85 282 1,804 0 1,804
Il 902
Al 902
307 elzto| & 1,804 0 1,804
Il 902
Al 902
02 2B YAIHE A 1,804 0 1,804
OOZAMEHSNCST BE 2EE
1,804,000& *14] 1,804
Il 902
Al 902
ZJOHIME XN F A=A B 230,472 202,711 27,761
Il 93,906
Al 136,566
307 elzto| & 230,472 202,711 27,761
Jl 93,906
Al 136,566
02 2B YAIHE A 230,472 202,711 27,761
OZ A HEMS N = AL BHXIAH
230,472,000 14] 230,472
Il 93,906
Al 136,566
ZONQU MBS =X MM XIAY 7,200 0 7,200
== 2,880
Al 4,320
307 elztol & 7,200 0 7,200
= 2,880
Al 4,320
02 2IZHBYAIAE & 7,200 0 7,200
ONRUMBHSKER I KB
7,200,000 14] 7,200
=S 2,880
Al 4,320
=PHEI00 HHEASHEH 24 203,640 225,000 121,360
Jl 142,548
Al 61,092
101 @124H| 173,812 169,341 4,47
Jl 121,668




RARIS = algeaiy
B ATENO R4
ool RWHSFIEIS BEAY (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 52,144
04 JIZtNZ22 XS 2+ 173,812 169,341 4,47
OAL2SHCIAF 21| 68,880
—X&AES LXK 3,045,000« 1&~12& 36,540
7l 25,578
Al 10,962
~XIAE DIAKITHSSM2I8t AA
2,695,000« 1H*12& 32,340
Jl 22,638
Al 9,702
OMESEAL 2124|
2,078,000& 2F 122 49,872
7l 34,910
Al 14,962
OS2I F222 =¢ 10,080
—XAS AR 120,000 »45& 5,400
Jl 3,780
Al 1,620
—UAS DIaXXH (2SS AA
104,000 »45& 4,680
Jl 3,276
Al 1,404
OMEEEAN 5227 =&
80,0002 x2& »456& 7,200
Jl 5,040
Al 2,160
OAUESE JIARE=
290,000& x4E 12 13,920
Jl 9,744
Al 4,176
OEx+¢ 12,660
—AIE2S2ACIA 125,000 x30€x2& 7,500
Il 5,250
Al 2,250
—HESEEHA 86,0003 30 x2H 5,160
Jl 3,612
Al 1,548
OX0Pt= EAHIA 01l
20,0002 4 »23]~8 1,280
Jl 89%6
Al 384
OXMeElelsHdE ME 225 728
200,000 x4 H*43] 3,200
Il 2,240
Al 960




2A: Mg
B ALZMNY K4
ool RWHSFIEIS BEAY (crel: g)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OFAZ A 140,000 x4 H =123 6,720
| 4,704
Al 2,016
201 B2 AY| 29,828 55,659 A25,831
| 20,880
Al 8,948
01 A=R2teld| 25,228 53,059 A27,831
OJl2 ME2Y &l 400,000 128 4,800
| 3,360
Al 1,440
O=0XE100 22 JI1E€2 ME
2,480,000 43| 9,920
| 6,944
Al 2,976
ONHZADY 2E8E 7Y
1,250,000 23| 2,500
| 1,750
Al 750
OUOINE #2IX 2Z(DIEE L AlAE)
1,000,000 23| 2,000
| 1,400
Al 600
OANREE(EH, EE &) 7Y
300,000& 12 3,600
| 2,520
Al 1,080
OAZ YNB(HFBEAI], XY S)
2,408,000 *14] 2,408
| 1,686
Al 722
02 S=29| 4,600 2,600 2,000
O3=2d| 4,600
—RERI 620,000 * 14 620
| 434
Al 186
—Hi& HABEHZ 1,500,000 13| 1,500
J| 1,050
Al 450
—QHYANEZ 40,0002 12& 480
| 336
Al 144
—AAEH 2Rl ¥ B+
500,000& 43| 2,000
| 1,400

Al 600




RARIS = algeaiy
M ALY |4
el RUHFSI)I= EXAMY c
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
et HHIHEIBSHEH 2 OISEHEXY) 50,000 0 50,000
= 30,000
Al 20,000
307 el2to| & 50,000 0 50,000
= 30,000
Al 20,000
02 QIZtEHAEE X 50,000 0 50,000
ONtE=HMIMHASHEH 28 X
0,000,000 *14] 50,000
== 30,000
Al 20,000
HSIIBE AlE == 1,894,455 6,441,738 A\4,547,283
= 390,000
Al 1,504,455
HEAIE X & B 327,375 348,738 A21,363
201 er=23| 22,835 14,358 8,477
01 AtR2te|Hl 4,000 4,000 0
OMEAE S 2iaad HALss SSAH
= 1,0002 *1,0000H 1,000
OMSAIE 20 S22 S M
200,000& %102 2,000
O=d ARx1T 80l OHE 22 =8 S
100,000& %10 1,000
02 S3=gl 18,835 10,358 8.477
OMSAI2Y SgdATS 2 HBAD oF
ue &5 5002 *870H 2 435
OZZHSAE ez S 332
100,000 x7IH 2% 123 8,400
OMBHSAL D 22l Y B4
400,000 %102 4,000
OLH HOIESH 34 KX
500,000& * 128 6,000
202 04| 2,340 2,580 A240
01 =LHOLI 2,340 2,580 A240
O=HIXZAY 28 & X2A2 2F
60,0003 x3& *63] 1,080
OSSHSAIE EX2d EtAlZ X0
60,0003 x3& +73] 1,260
203 =4l 1,000 1,000
03 A=A PR FZ| 1,000 1,000
OSsEH=AE X g% =4
1,000,000 *14] 1,000
401 AlEHIZL SO 301,200 330,800 /29,600
01 Al&HI 300,000 330,000 30,000
OSUIMEAIE 4X & 2= 300,000




RARIS = algeaiy
B ALZMNY K4
Rl MSIIE AIE &S EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—SUHSFAIE &4
5,000, 0002 *400H 2 200,000
—SUIMSAIE 2+ & 018 S
2,000,000 +250H 2~ 50,000
—SSHIAE E=
10,000,000 *59H 2 50,000
03 Al 20HHI 1,200 800 400
OHSAE 8 & 24
1,200,0002 %14 1,200
HEAMS L MASZE LA (HEAIY) 1,200,000 0 1,200,000
=) 390,000
Al 810,000
401 AIEHIZ SR THYI 1,200,000 0 1,200,000
[ 390,000
Al 810,000
01 Al&H| 1,200,000 0 1,200,000
OdliEatet W MRAEZH =d SA
1,200,000,000& *14] 1,200,000
= 390,000
Al 810,000
A =Y 29 20,280 20,280
201 Zet=3hl 5,280 5,280
02 S3=gHl 5,280 5,280
Ol =Xl22 440,000 128 5,280
405 KHaHE SH] 15,000 15,000
01 Tt ESF=HI 15,000 15,000
OZCIZI| &l 7 15,000, 0002 1K 15,000
= =gl 29 196,800 196,800
201 er23 | 46,800 46,800
2 35234l 46,800 46,800
O=&Al oi=sdH =¥ 46,800
—2= ¥4 EY 1,100,000 «6 6,600
—&ot=k 2= 1,100,000 «62 6,600
—ZADIA 23 1,100,000& x62 6,600
—&J 2= 1,500,000 «6& 9,000
—2YAlE KX 500,000 6 3,000
—5&J| 7Al2 500,000 «6E 3,000
—24E NE (S, ¢ 8) sXzel € &2
= 2,000,000 x62 12,000
405 AHaHE = 150,000 150,000
01 It =S F = 150,000 150,000
Oz dH I
150,000,000 *14] 150,000
FIOHSE Z2EUE MSsAE i 150,000 0 150,000




2A:

M= Ak 1t

M ALY |4
Rl MSIIE AIE &S EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 150,000 150,000
01 Al&H| 150,000 150,000
OFCHEE MSAIE JHA
150,000,000 *14] 150,000
AHY2IHHI(M=SLE) 105,712 88,063 17,649
el 3 57,048 40,068 16,980
el 24| 57,048 40,068 16,980
101 @124H| 57,048 40,068 16,980
01 &= 57,048 40,068 16,980
OAlItRAZ 25
11,3193 x 142 +30A| 2+ 123 57,048
Jl=23H 48,664 47,995 669
Jl=23H| 48,664 47,995 669
201 er2 3| 20,464 26,515 26,061
01 AtR2t2|HI 20,464 26,515 26,051
OM=dg g% =0 e =l
8,000« 13 *74!x 122 8,736
ORKN2E MRES I
40,0002 x13F«12& 6,240
OYRET ZASK 7 (M)
22,0003 58 Ax 123 1,320
OgRFA ZALEX F(B5)
20,0003 »22 Ax 122 480
O=ADI &Y #Y 150,000 *4 4 +23] 1,200
OSAPI &8 WA 267,000 *1CH 267
Ol gits 33,0003+ 122 3%
OsE= £&8 S&HH
1,000 *1,0000HK 1,000
OMRA A2 & &N 7152
33,0003 *55+53] 825
202 04l 25,200 18,480 6.720
01 =LHAHI 25,200 18,480 6,720
OJ1Z22UHEENH
20,0002« 15 +72x 12 25,200
203 =4l 3,000 3,000
04 FAE2EERFAH 3,000 3,000
ORKNSgERF=AHI 250,000 * 122 3,000




